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for the questions

UNIT—I
1x2=2

Select the correct answer :

(a)

il e
s 2

Which of the following oxides has the
highest lattice energy?

(i) BeO

(iij) MgO

(iii) CaO
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(3)
(2)
(i) IO Ao SEAe e =g 2
(b) QT CEPIRS FEE TPifE W & 2 g Which of them has the lowest
The electron affinity values of halogens ionization energy?
are of the order | (c) -z & S KBr 3 (@ifbR X @i
() F>Cl>Br>I | ey SR MR 2

| With the help of Born-Haber cycle,
lattice energy of KBr be
(i) F <Cl < Br <1 J how can the lattice gy
| determined?
|

() Br>Cl>F>]

(@) CI>F >Br>]

| 3. o eppTd oA R e DGR T i

o s L 2x254 | 3lax4=14
G . | ;
Ansjﬁw (R e EB‘) 2 f Answer any four from the following
er the following questions (any two) : . questions :
@) IR coitrez wefis CaF,, CaClz (@) e e e fF T2 W 99 00
TS | e iR ) | [ R oo @R? 1+%4+2=3%
Among  the halides of calcium, €’ | What do you mean by fonpzation

Car,, €aCl,, CaBr, and Cal,; Cal2 15 | energy? What is its unit? Why is the
2 2 ‘ n energy of an element

mo A
St covalent. Explain with reason- second ionizatio A

(b) TS B [ | hicher than that of first ion
i 2 et st o engergy?

! onfiguration of four elem® | o 7 9T
aT€ given beloyy . | (b) fac = T @07 JeR  CTeT 2
g sqmeq eFe X @

v oo B 15225220 | ez N 90| 1+%+2=3Y%
3 - -
C—-1322322p63323p5 D -1322522,9 | What is dipole moment? Whaltm,:yl(t;

O R ey g e ? | unit? How does it afﬂ?:; eﬂ;:r::;le
Which £ k1 h.-ghest a molecule? Explain Wi
Ot them has the »!

electron affinigy» /|

( Coﬂﬁﬂﬂg |

( Turn Over )
24P/305

24P /39



(5 1)

| (5)
(c) CO 9f{ w9fis Fwifeq foq =F #‘?W, UNIT—II
W@WWWW@@WI u=3th |
QYatlat /3 | 4. wm Teqn b e - 1x2=2

Draw the molecular orbital ene{'@f
fﬁag,-am of CO molecule and determin€
Its bond order and magnetic property:

Select the correct answer :

(@) TR TR TS T& 9, A

1
|
1.4 The mean free path, A of gas molecules

@) s e PRl @ R

Define Pauling’s scale of elect™

‘ () T SRR we wel g% o
negativity. I

increases with pressure and
i temperature
) CH Tmfy Ay @wee @
S 4 (H!a | (i) BI7R = s I AR e Tawem e
R RORRE 2 21, I T2 g
Freafbfef e | ; increases with pressure but

decreases with temperature

40 _H
'tl;he lonic resonance energy of Cu-o-
ond is 5.7 The elec ‘
negativity OfSHk(i::J.'z-l. cind 9 (iti) ;r:; gﬁ q:zsr ¥ I e Tawem e
ele°&°negativity of carbon.
decreases with pressure Dbut

increases with temperature

( 2 .
7 VSERR w3 wragg o1 were Rt ‘J:W;fﬂ,s'/’ |
1%

RUSHE T
Sl - (iv) B S THER A A I I
i SEPR theory, explai? decreases with pressure and
¢ ofthe following : | temperature
H,0, SFy
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(6) (7)

6. wo PR el A

(b) <6 R IR el e @' B. PO
Answer the following questions :

GFFOF I | CTAE
;rhe RS factor of & g2t (@) CTE S qBESE T A 7 e S
S8 than unity at STP. Therefore 5T o] IS A TE P ? 27 °C

() Vp>22.4 | THOS CO, (R S 1S S 597 1 |

(@) Vp <22.4 1, ' : 1+2+2=5
i bable speed of gas

() V. =20. What is most pro p g

.) m=22-4 L ‘ molecule? How is it related to the
) V, >44.8 L ' average speed of gas molecule?

Calculate the average speed of CO, gas
molecule at 27 °C.

S'Wwwﬁm(ﬁmﬂ’iﬁ): 22

Answ :
¢t the following questions (any two) : e

|

j NH, W% CgHg W93 I TR R a1
| <41 | H, 9% He 9 8 PV, W P 3OS
fiqe Jfa @A FERCO HH R SIS
W | G (69 AR AR e

(a) WWT‘Q%"WWW'

‘:Ill’;at is the law of equipartitiont of
*&? Explain briefly,

|
|
) @R ey | 341 | 2+3=5
%Pﬂ' S ; Calculate the degrees of freedom for
Distingy; | NH, and C4Hg molecules. Hp and He
and Cglt-ll:;s:ll Detween Boyle’s temperature f always show a continuous increase in
temperature, | PV, vs. P isotherms while other gases
(© Txg 1 SR have a dip in the isotherms. Explain on
PR ey GRS ey qfe I | L ' the basis of van der Waals’ equation.
90 J
Viscosj
1
lncrEaS? 1nf 2 gas increases with d:; | (b) AHANES 99°T9 ‘153[?{ A3 IR RIGRES] g
Suitab]e rEasz:nperature. Explain wi | o fecol I P
. AN ( Turn Over )
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(8)

E .
d:ilalr? th‘e drop number method for
i fmination of surface tension of
1quid in the laboratory.

; E : b

Wh :
ot :11: are the physical significances
€ van der Waals’ constants @

and p?
RN 2+173

Derj
Ve the equation for the law of

Ing st 5
statement, 8 states and give the

UNIT—11
Giﬂ 5 1 x 2-’—'2

answer -

7. Qﬁmwtﬁ

Select the Cortas)

@) quie
9
What | NS e oy 2

S obtaj
azide? Aited by thermolysis of

o~

24P/395

(9)

(b) CH,CH=CHCHBrCH;¥ 9 f6r
R HRR I 7 ?
How many stereoisomers are possible
for CH;CH = CHCHBrCH3?

M 2
(@ 3
(iii) 4
(iv) 5

8. oo eppiyEd e frm (R G ge) - 2x0=4

Answer the following questions (any two) :

(@) H;O" 1@ 'Fi2e A1 fiofes®iRe 724 |
*411
H,O" is neither electrophile nor

nucleophile. Explain.

(b) CH,-Cilb (it Tofke feed S g
7= ¢ | R0

CHj-group is more electron donating
when present in benzene ring. Explain.

bR e e A |

(c)
<41 |
Mesotartaric acid is optically inactive.
Explain.
( Turn Over )
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% O TR g fo -

Answer the following questions :
(@) vy GRT fry -

Write short notes on :

(i}ﬁﬁzﬁ;wwﬁwwﬁa@@

214%x2=5

Kinetical]
Y and thermodynamicall
controlled reaction AT,

(1) mﬁw’q@’
RIS

Resoluﬁ

fol‘lnatio(:]n through diastereoisomer
0 S%_T / Or
) ey

e R0 2 Rk Rl 70T

TS - 1® T S, g o I

; 1+2=3
Wh F-; Clq, Bro e I
at s i
the followiEUdeophﬂlCity? Arrang®

Philicity v : g in increasing nucleo-
it pr oper explanation :

(i) 2~ﬁ%2 > €1, Br~ and I
123y 2 5
Rt iy i - =rF | ST

Draw p.
2-methy, e S-configurations of
¥2-bromobutanol.

24P/395 )
( Contint®

e ———— e

(11 )

(b) (i) TACHE SR ©e© AT oA #9122
Convert the following as directed :

COOH

H3C : ol
(To Fischer projection)

(To Newman projection)

(i) 4-RuET-2-FE-2(E), 4(Z)-RS-
T3 o1 WP 91 2
Draw the structures of 4-Methyl-
2-phenyl-2(E ), 4(Z)-hexadiene.
© (i) foeores wF fGorees Fi¥a [ 2 cfem o
Gefce® ¥ cis-2-butene® A9 ¢4,

cofeqT o’O@ R A F91 | 1+2=3
What are singlet and triplet

carbenes? Explain the products
when a triplet carbene adds to

cis-2-butene.
‘(ii)a@’mﬁ‘aszhwﬁﬁﬂﬁmwr%a

oep2e] SR ST 'S a8 & T

fAfeRIal ¥ |

Draw the energy profile diagram

from endothermic two-step reaction
in which the second step is rate

determining step.
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